
B

A

C

D

E

F

A

B

C

D

E

F

21 3 4 5 6 7 8

1 2 3 4 5 6 7

Over

ANGLE

400

120

30

Unspecified Tol's �#�mm

6

0

Medium

0.15

0.2

0.3

0.5�$�

1000

400

120

1�$�

0.8

0.5

0.3

0.05

0.1

Fine

30

6

To

0.2

0.1

2�$�

2.0

1.2

0.8

0.5

0.2

Coarse

DRAWN CHECKDESIGN APPROVE

SIZE

3

OF

SHEET

SCALE

A MATERIAL

TITLE

PART NO.

FILE NAME

REV
UNIT:mm

TWQ75R0205

CONFIDENTIAL
This document contains confidential information.
Any disclosure, reproduction, distribution or other use
of the information or any attachments by an individual
or entity other than the intended recipient is prohibited.

Need to use the material and production process that must be complied with green 
product's requirement according to part number's environmental level requirement.
Material and components needs meet the requirement of the newest version of 
9999999-201-M06

20.0�$�

20.0�$�

20.0�$�

20.0�$�

4.00

4.00

2
3

5

8

6

63.00+0.05 0

(H7)31.500+0.025 0

6.5

6.5

6.5 6.5

70.00 0.05

(h8)63.000 0-0.046

(
H
7
)
(
X
4
)

6
.
0
2
0
+
0
.
0
1
2

 
0

(X2)7

2
31
8

1
8

50.0 0.1

4

1415

7

2
0

REVISIONS
AUTH ZONE LTR ECO DESCRIPTION DATE

Simon A RELEASE FOR PRODUCTION 240913

 Inspection Item

Item Spec. Tool  Cpk

1/B2 H

2/B3 P

3/D3 70.00�#�0.05 C

4/D3 P

5/E3 P

6/E5 CM

7/C1 M4 SCREW �x� 7mm

8/D5 M4 SCREW �x� 7mm

CHASSIS(METAL), FLANGE FOR 3D CALIBRATION
100X150, MAT'L:AL, TM0B(ROHS)  

AL 6061 T6
(ANODIZING STANDARD BLACK)

A

4:5
SimonChen
20240913

6052-000163A-AR0

6052-000163 A

SimonChen JacqueHuang XavierKuo
1  1

P.C.D.=50

M4 Screw

     

M4 Screw

     

SECTION  A-A

M3 Screw

M3�x�8mm

FLANGE


	Sheet 1
	Views
	new_view_1
	left_2
	right_4
	bottom_6
	bottom_8
	right_10



